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ER/RA40041 ROIENO. & sesvibunasiivnnns
May 2024
KINEMATICS & DYNAMICS OF MACHINES

Fruifa e : 39 [fRreme 3% : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () FH-FRATIRAT T HE

Note : There are THREE sections in the paper A, B and C.

(i) QT THFIT GG & G 10 97T F IR G | T T @ 37 &7 8 T
G 10 91T FGABT TFR S THI & & |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QRA & P 8 Zv1 4 @ 5T 6 el & IR T | IAF F7 3 3% BT & T
g7 5 ST / 50 Yl 7 IR e |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QT % 6 399 5 @ g 4 9 & IR AT | F9% F97 8 3% H 8 T
$7%7 15 oM / 150 ¥l 3 Fo’ o9 |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) TE% QI & G FF1 ) FHAR T I FT HIrT |

Solve all the questions of a section consecutively together.
(vi) el urrsil 7 37 51 1 IR 7 I sgae @ a8

Only English version is valid in case of difference in both the languages.

% (10f4) P.T.O.
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(i)

(iii)

(iv)

)

(Vi)

AR/E-T
SECTION — A

UfIfeeshet et frmforiad Sehmvr o1 JeTev &

(a) IRIR=H (b) ToTeT TeTSe shep =H
() TSI TATSE sheh = (d) 3UU | Y IS ]
Elliptical trammel is an example of inversion of

(a) Four Bar Chain (b) Single Slider Crank Chain
(c) Double Slider Crank Chain (d) None of the above

TR g 7 Sel firer % 37el & ifd Bielt @, et B

(a) T&desfirre (b) TltETsfaes firR &
(c) HusE iR (d) Torue firr

In a gear train where the axes of gears have motion is called
(a) Reverted gear train (b) Epicyclic gear train
(c) Compound gear train (d) Simple gear train
ot iR Y 3 R T

(a) FUHTRAH (b) A |

(c) Ui e vd R T H () S H A g T8
Cam converts the rotary motion into

(a) Rotary motion

(b) Translatory motion

(c) Both rotary and translatory motion
(d) None of the above

TATES sheb o % foTq sgespal <61 T Bt 2

(@) 6 ®) 5

e]. 4 (d).. 3

The number of inversions for a slider crank mechanism is
(@ 6 b) 5

(c)e 4 (d 3

firR @ e frefefed 3 @ & a1 e ol 1 R 2

(a) UHHS GIge (b) TR ITHIE

(c) =<t vifaa gaTia ST (d) W i

Which of the following statement is not true about gears ?

(a) Positive drive (b) Constant velocity ratio
(c)  Transmit large power (d) Bulky construction
el T SIS et i 8

(a) e i fhEeH & T (b) ST TE H TGH H feIq
(c) UThBUB TGRS  (d) e H T B AL

Crowning of a pulley is done to

(a) Prevent the slipping of belt

(b) To increase the tension of belt
(¢) To increase the angle of contact
(d) None of the above
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(vii) freferiiaa @ @ e grsa W feem A i 8 2

(a) A see grgel (b) TS ST T
() TagrE (&) frgrEa
In which of the following drives there is no slip ?
(a) Open belt drive (b) Crossed belt drive
(¢) Ropedrive (d) Geardrive

(viii) ZTeh ol 3T &
() A (b) -
(c) @M (d) =
Unit of torque is
(a) Newton (b) Newton-meter
(¢) Watt Coulomb

(ix) 3nmqﬁﬁfanxqaaii3maqaq%ﬁaf#ﬂﬁsznngqﬁﬁﬁﬁaT% ?
OREEXE (b) Toreemom
() (&) o
In a damped vibration system, the damping force is proportional to
(a) Vibrations (b) Displacement
(¢) Velocity (d) Compression

(x) W feafa @ srftreman foweme wgamr 2
(a) ITER (b) I
(c) THI A (d) ST T F HIS a8
The maximum displacement from the mean position is called
(a) Frequency (b) Amplitude
(¢) Time period (d) None of the above

Yo —
SECTION-B
2. g firafen & frem =t ferfa |

Write the law of toothed gearing.

3. 3diod efd aTel TR <kt o o gt feiaw |

Write the advantages and disadvantages of an involute teeth gear.

4. TIIRET HH i G § THETsT |

Explain in brief tangent cam.

5. APRST Y 3T T EAIA B ?

What do you understand by a mechanism ?
6. T grEd WAl feonft ferRew |

Write short note on rope drives.
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7.

10.

11

12

13.

14.

15.

W@mqﬁ—qﬁﬁawélﬂwl

Friction drives are non-positive drive. Explain. &)
GRS g 1 39 fafen |
Write the use of superposition principle. A3)

TR SO T 3T T FHA § 7
What do you understand by free vibrations ? 3

T — ot
SECTION - C
SR -ST = o I[§ T el i TUEST |

Explain the kinematic inversions of four-bar chain. ‘)

(2) TR o yepri W wfdre feroooft ferfam |
Write short note on types of gear. @)
(b) Frrd snie (safaston) @ 9w ame § 7

What do you understand by interference in gears ? @

TAE o2 Ud V-Siee 359 | 3T fifan | See giga A s ae & 2 9l wumE i

HHSATET |
Write the differences between flat belt and V-belt drives. Explain the effect of

centrifugal tension in belt drive. ®)
' 3retrre o frgia ol o o wwginsT |
Explain in detail D’ Alembert’s principle. 8)
(a) ¥ U& foefier GgeH F B | ¢

What is static and dynamic balapcing ? €))
(b) Masesien gemm ATk &9 B Ffora 01 a1 § TS |

Explain why the reciprocating masses are partially balanced. “)

TS <61 SHifreh T & 379 T THA & ? S8 I 33 ot HRep RIRgu |

What do you understand by critical speed of shaft ? Write the factors affecting it. 3)



